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Jol 4l 50 log 2Dy (ool slo)lg2d Yoo (hradl dnslons

bt =bhu A =0.25¢g
Yo SBS =1.75
Bs=S+1
syl wass copoap =1
goly ol o 2Rp = 2.5
Jlws Yl s 10 0,80 033WpP = 270 kg/m2
a5 3,90 4iib X =1
olib slash =35
el 15 ol Gllas e by Slgalsls Bl 59,0 YA+ 5 luilivl V=¥ alal, 5.l
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0.4ap ABsWpl Xy 0.4%1x0.25x275x270x 1 1
_ 24ap pp(l ): <1+2><—>

P Rp
Fp = 41.58
Fpmin = 0.3 AB:W,I, = 55.68
Frimaxe 1.6 ABW,Ip= 297

- Fp = 55.68

2.5 5




Psl-I*q*Ce*Cg*Cp*Ct*Cd
Ip=1

g=0.57

Jgl aibh =2.842.4=5.2

Ce=0.7#(-)°3

Ce=0.55
Cg=2
Cp=0.9
Cd=1

P, =5643

55 b o, 1.6 % 56.43 = 90.28

90.28>55.68 So “90.28” OK.

lo,lgo0 sles | (L) = 2.8 m
YVF alalls VY-VY alayl, b
Mu = 0.125 * Fp * L2 = 0.125 X 90.28 x 2.8
Mu = 88.47 kg.m
Mu = 88.47%9.81=867.9 N.m

VVE abolls VV-1Y byl gl

Mg = 209y firty
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fif = 1580 * 0.78 = 1232.4 N /5cm

Md =20 x 09X y x1232.4 x 0.15 =33275y N.m
Md > Mu

3327.5y > 867.9

867.9 02
33275

Y >

y >026 - y=26%
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